— 1

B2E R A (Fb>1)

O
—

o] dr}. ofm, a o] gk

@ 5 ® 6 @7 ® 8

D 4



She = A9 A

S

=

A4 0.370] o]H A5 FotH I A A5 "t ol E

]_

a
—

@ 35 ® 45 @ 50 ® 90

O 15



A

s
nE

@ A5t ot



4. 8 =8 x4 =64 T HHStE AAS xy of distd x+y 9
w27

@® 2 @ 4 ® 8 @ 10 ® 12



5. teusFge

H7]
@ 84 _ 212 @ (_25)4 — _58
@ 278 _ 311 @ 645 — 230
® 9,0 ® 9, ® O 0
ONGNE) ®06.6.6




olJ

%
o8

olig
Nfo

op

@x X
2)((2)2 6
=X

@
x2ext=



D = sycm . 2zem <

& 183t ZHo] AD = 2xcm,

ol 21x+2ve ABCD 7} 9lth. AD
HAAAA A7) s)AA o] Hul= CD

S|ANAA A7) B|AA 0] Hulo] @ uj Q1) gyem

pl)

aQ~~_

y y y y y
©=H =" oW @ O



A=}
SRl

1 1
(-2x% 4+ 3x) + §x+ (4x3 — 5x%) + (—§x2>

O] F22(HE, x#0)



FXa, b HotA #, « Saftb=a+b-ab,axb=ala+b) =
BOStAL a = —x, b= x—4y & W, (a#b) + (axb) T x, y ol T3
Hoz eppa?

D x%2-y @ x%2-4 ® 2x%2 -y

@ 2x% -2y ® x? -4y



1
10. x= 3 V= 3 4 o 3xy(x —y) — (4xy% — 4x3y?) + 2xy O] GF2?

0% o2 of o-F o

35
3 3 3



